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18. (a) —1.8 (b) —1.5,1.7
19. Domainis (—oo,—1)U(—1,00) and the Range is (—oo, —3]U[0, o0)
20. [5/2,7)U(7,0)
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24.(a) y= Z[X—Z

.
(b) Line of symmetry X = .
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(d) Minimum

(c) Range:

25. f(x)=(x—2)"+3
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26. () VX—1+ X2 +2 (b) 54 () \/26
(e) (—oo,00), [1,00)
5 41
27. f(X)=—=x——
(X) 5% 5
28.
T (2, 8)
('112)
(17 _1)

30. g1(5)=1
31, f1(x) = 23
— X
= f(x
2. y=1(x)
2_ -

33. (a) See sketch
(b) Local Max. =(—0.31,4.82)

(d) Vx2+1

Local Min. =(2.65,—21.19)
(c) Increasing: (—oo,—0.31)U(2.65,00)
Decreasing: (—0.31,2.65)
34. Odd

35. Quotient = 4x* +5Xx +15; remainder = 47




ANSWERS

36. f(—=1) =7 .. remainder =7
37. Q(x)=x+2; R(x)=4x+13
38. Yes.

39. k=——=
5

40. f(x)=a(Xx+2)(x—3)(X—4—i)(x—4+i) = a(x+2)(x — 3)(x* —8x +17)
41. f(X)=2(x—2)(x—3) =2x*—10x+12
42. Domain: [0,00); Range: [3,00)
16
7
44. {-7,1, £2i}  fi)=(x+7)0x = Dx — 2i)(x +2i)
45. {~1.44,0.41,1.70}
46. (@) x=—4;x=-1
(b) y=0
(¢) Domain: (—oco,—4)U(—4,—1)U(-1,0)U(0,00)

43. X

47. See sketch at right.
(@) {-4,-12}

. 4
b) Y-int =—
(b) E

(c) VA x=-2, x=5
(d) H.A. None
(&) y=x+6

48. f(x)= % (x—1)(x—3)(x —4)?

49.

©. 2)/./»

(5"4)
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ANSWERS

Domain: (—oo,00)
Range: (—2,00)
HA y=-2

[

Domain: (—1,00)
Range: (—oo,o0)
V.A x=-1

{g}
2

1 1
Ioga+2|ogb—zlogZ—§logc

X5

lo
Y ax—4 (5x+1)°

IN21—In5+1In4

2In4
(a) —6.34 (b) 13.22

, Or equivalent.

(@) 3.26 (b) 3.15
@ (0,1)U(1,00)
2.1cm

5.22 years
110.02 days
13,500

250 yd by 500 yd
. 6.35 feet

. (@) 109.77 feet  (b) 3.40 sec.

(@) nosolution  (b){4} (c) {8}

(24. 0)

(c) —2.58
(b) (—00,6)U(17,00)

(d) 1.28

#53 graph



ANSWERS

68. V<3123  (0,31.23)

69. (a) k ~0.1507; A(t) =17,000e*"" where A(t) is in dollars and t is the number of years
after 1952.
(b) $479,650,669
(c)4.6yr
(d) 63.4 yr

70. (a) yzg (b)S:4x+2—XO+5

71. (a) 2.5 inches or 7.29 inches (b) 4.70 inches

15(40—x) if 0<x<40
72.(@) F(x)= 0 if 40 <x<65
15(x—65) if X > 65

(b) F(30) = $150; F(50) = $0; and F(75) = $150.
(c) The fines for violating the speed limits on the freeway.
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